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16.

18.

19.

20.
2L

22.
23.

24.
25.
26.
27

28.

Let AM be a median of AABC. If BC = 16 and
h = 5. find the areas of AABC and AABM.

15. A parallelogram has sides 12 cm and 20 cm long. If the shorter altitude 1s
6 cm long, how long is the other altitude? '

2 F
FG is the altitude to the hypotenuse of ADEF. Namé three
similar triangles and find their areas. (Hint: See Theo-
rem 6-1 and Corollary 1 on page 248.)
D2G

Write an outline of a proof that if AM is a median
of AABC, then

Area of AABM =1+ Area of AABC. B

An isosceles triangle has sides 5 cm, 5cm, and 8 cm long.

a.
b.

If

area of ATRS.

F1
If
al

A
A

Find its area.
Find the lengths of the three altitudes.

the area of parallelogram PORS is 36, find the

nd the ratio of the areas of AABD and AADC.
the area of AABC is 240, find the length of the

titude from C to ;ﬁj

Find the area of each figure.

rhombus with perimeter 40 and one diagonal 12

30°-60°-90° triangle with hypotenuse 8

An isosceles right triangle with hypotenuse x

An equilateral triangle with height 12

A regular hexagon with perimeter 60

A rectangle with length 24 inscribed in a circle with radius 13

Use the diagram shown at the right. P Q
a. Find the area of Z7PQRS.
b. Find the area of APSR. 16| Q
¢. Find the area of AOSR. (Hint: Refer |
to A PSR and use Exercise 17.) 0o
12 S 30

d. What is the area of APSO?

e. What must the area of APOQ be?

388 / Chapter 9

Why? What must the area of AOQR be?
State what you have shown in parts (2)-(e) about how the diagonals

divide a parallelogram.

C 33

29.

31

32.

For

34.
35.




